
Čeština: 8. lekce 
Czech language: 8th lesson 

TEST 3. Communicative Competency: My daily routine. University city Brno.  
Grammar: . Where do you go versus Where are you?  
Project 3: My life in Brno. 



KDE? × KAM? 

KDE? KAM? 

vlevo × vpravo doleva × doprava 

nahoře × dole nahoru × dolů 

uprostřed doprostřed 

rovně 

tady × tam sem × tam 

doma domů 

any verb verbs of motion only 



KDE? = where (question about location) 

masculines KDE? feminines neutres 

penzion 
hotel 
bar 
supermarket 
kampus 

v penzionu 
v hotelu 
v baru 
v supermarketu 
v kampusu 

Česká republika 
 
hospoda 
Praha 
škola 
 
restaurace 
práce 
kancelář 

v České 
republice 
 
v hospodě 
v Praze 
ve škole 
 
v restauraci 
v práci 
v kanceláři 

Brno 
 
kino 
divadlo 
 
Tesco 
centrum 
 
nádraží 
Komenského 
náměstí 

v Brně 
 
v kině 
v divadle 
 
v Tescu 
v centru 
 
na nádraží 
na Komenského 
náměstí 

can be used with any verb (all actions are happening somewhere) 



KAM? = where (question about destiantion) 

masculines KDE? feminines neutres 

penzion 
hotel 
bar 
supermarket 
kampus 

do penzionu 
do hotelu 
do baru 
do supermarketu 
do kampusu 

Česká republika 
 
hospoda 
Praha 
škola 
 
restaurace 
práce 
kancelář 

do České 
republiky 
 
do hospody 
do Prahy 
do školy 
 
do restaurace 
do práce 
do kanceláře 

Brno 
 
kino 
divadlo 
 
Tesco 
centrum 
 
nádraží 
Komenského 
náměstí 

do Brna 
 
do kina 
do divadla 
 
do Tesca 
do centra 
 
na nádraží 
na Komenského 
náměstí 

only verbs of motion 



LOCATIVE SINGULAR: overview (location grammar) 

 nominative singular   locative singular 

bar + -U baru 

Brno, Tesco -O  -Ě/-U Brně, Tescu 

škola, hospoda -A  -E/-Ě škole, hospodě 

kancelář, tramvaj + -I kanceláři, tramvaji 

restaurace -E  -I restauraci 

nádraží, náměstí = -Í nádraží, náměstí 



GENITIV SINGULAR: overview (destination grammar) 

 nominative singular   locative singular 

bar + -U baru 

Brno, Tesco -O  -A Brna, Tesca 

škola, hospoda -A  -Y školy, hospody 

kancelář, tramvaj + -E kanceláře, tramvaje 

restaurace = -E restaurace 

nádraží, náměstí = -Í nádraží, náměstí 



KDE? × KAM? 

KDE? KAM? 

grammar locative genitiv/accusative 

question kde? kam? 

preposition v + locative do + genitive 

na + locative na + accusative 

verbs any verb verbs of motion only 



Homework 

Review today's lesson. 

 

 


